e UERd o, 50 A A2 o] SeAkE Tatelet,



A4 34.0872 = x B B4R 1A o, R A2
® 1000x — x @ 10000x — x
® 1000x — 10x @ 10000x — 10x

® 10000x — 1000x



7|FEZ A B S84SR UJERY L), o]do]: BA}E AR HolA
3i o

o] 0.31 o] E9al, Yol ERE A5 HolA Hol 0.14 7} =9
ot o] W, 7|9 A S F5HA?

10 11 19 13 "
© 5 @ % P 5 @ = o=



i

op

@ 0.69=0.7

@D 0.37=0.37

® 0.35=0.35

® 0.39<04

3
10

@ 03<



S A4 Uerd o, 100 HA 2] 9] 59

@ 3 ® 4 @ 5

® 6



?(Fa#1l)



6 =
T RS o xak SEASE U 4 9tk ol 71 2

A% 0 9] gHe Fotolet.

D
=%



ro

A Fafel

1
279
5

m, 3, 0.121231234---




_
&
i

o
R4
ol
o8




13 42 51

S 20 o © %27 © @

© Fxoxr 9 pxw ® 5
ORONE) ® 0,66

® 0606 @ 6,06, 6

® 9,0,6,8,.6



11. o8 271742 25 H Aediz 4add o b iAol sigshe

AL

® 0.453 @ 0453 ® 0.453

@ 0.453 ® 0.4530



A7F?

4.89999 - - -

<
d
o

Nfo

ojn

® 4.9

® 4.88 @ 4.89

@ 4.8

O 4.7



13. &= Adste] E42 Yerfw?

1+ 0.5+ 0.05 + 0.005 4+ 0.0005 +- - - -

@

15
9

15 14
@ =

15
@ 5 9 ;

14
90




2w, 20 0|50 A4 x o] HHE Foheiat,



15. &@a40.71529) 244 ot 46 A 22| o] =24H5 Fstoiet.

5 L
=¥



16.

U L

£P252 Y, st 248 2% RotA
L B E 2R "ol To] 047 o] it



()
ol



18. #4214 a o thato] > o] 7]okAo] T, x = (99.9 - 0.9) x - 9]
1la 1la

gtol Aa5 ), x ) 247k ool

D R
=%



@ 6 ®7 @ 8 ® 9

@ 5



20. 0.6 ol o8 % o & FHAE 26 o] HIh. o 9 L Fofoiel.

D L
=%



